
INSTALLATION MANUAL
RT-4550KVPBRPM & RT-4550KVPBRPM2
kVue™ CT Phantom Mount & 
kVue™ CT Phantom Mount Generation 2

kVue CT Phantom kVue CT Phantom Generation 2

Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



kVue is a trademark of Qfix.

EC REP Advena Limited

Tower Business Centre, 2nd Flr

Tower Street, Swatar, BKR 4013

Malta

  Made in the USA by

Qfix

440 Church Rd, Avondale, Pennsylvania, USA

+1 484-720-6053 www.Qfix.com

INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com

2



TABLE OF CONTENTS

GENERAL PRECAUTIONS.................................................................................................................................................... 4

WARNING STATEMENTS....................................................................................................................................... 4

WARNING LABELS & DESCRIPTIONS................................................................................................................ 4

KVUE CT PHANTOM MOUNT............................................................................................................................................ 5

PARTS PROVIDED.................................................................................................................................................... 6

INSTALLATION INSTRUCTIONS FOR PHILLIPS MACHINES.........................................................................7

INSTALLATION INSTRUCTIONS FOR SIEMENS MACHINES........................................................................ 8

KVUE CT PHANTOM MOUNT GENERATION 2............................................................................................................. 9

PARTS PROVIDED...................................................................................................................................................10

INSTALLATION INSTRUCTIONS FOR PHILLIPS MACHINES........................................................................11

3INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



WARNING STATEMENTS
! WARNING ! NO MODIFICATION OF THIS EQUIPMENT IS ALLOWED. IF ANY PART OF THIS DEVICE 
EXPERIENCES A CATASTROPHIC LOAD, APPEARS DAMAGED OR FUNCTIONS IMPROPERLY, DISCONTINUE 
USE IMMEDIATELY AND CONTACT QFIX AT +1 484-720-6053 OR TECHSUPPORT@QFIX.COM.

WARNING LABELS & DESCRIPTIONS
Refer to Qfix.com for a listing of symbols and their definitions.

GENERAL PRECAUTIONS

INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com

4



kVue CT Phantom 
Mount

INSTALLATION MANUAL

5INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



PARTS PROVIDED

(1) kVue CT Phantom Mount (1) Phillips, kVue Phantom Holder Plate 
(2004063)

(1) Siemens, kVue Phantom Holder Plate 
(2006959)

TOOLS REQUIRED (not provided):

#3 Drive Cross-head Screw Driver
7/16" Wrench or Adjustable Wrench

INSTALLATION

INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com

6



INSTALLATION
INSTALLATION INSTRUCTIONS FOR PHILLIPS MACHINES
If installing on a Phillips machine, use the kVue CT Phantom Mount as is out of the packaging. 
The kVue CT Phantom Mount comes with the Phillips Phantom Holder Plate (2004063) pre-installed.

7INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



INSTALLATION INSTRUCTIONS FOR SIEMENS MACHINES
1.	 If installing on a Siemens machine, unscrew the 2 plastic knobs (Fig. 1).

2.	Remove the 4 screws and the 4 nuts using the #3 drive cross-head screw driver and 7/16" wrench (Fig. 2).

3.	Remove the Phillips Phantom Holder Plate (2004063) and replace with the Siemens Phantom Holder Plate 
(2006959) ensuring that the chamfered edge of the plate is facing inward (Fig. 3 & 4).

4.	Replace the 4 screws and 4 nuts using the #3 drive cross-head screw driver and 7/16" wrench (Fig. 5).

5.	Replace the 2 plastic knobs (Fig. 6).

INSTALLATION

Fig. 2

Fig. 5 Fig. 6

Fig. 3

Fig. 1

Fig. 4

INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com

8



kVue CT Phantom 
Mount Generation 2

INSTALLATION MANUAL

9INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



PARTS PROVIDED

(1) kVue CT Phantom Holder Base Assembly (1) Phantom Holder Top

(4) 3/8 – 16 x 1.375" Flat Head Screws

TOOLS REQUIRED (not provided):

7/32" Allen Wrench

INSTALLATION

INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com

10



INSTALLATION
INSTALLATION INSTRUCTIONS FOR PHILLIPS MACHINES

1.	 Line up the 4 holes on the bottom of the Phantom Holder Top with the four holes on the head end of the 
kVue CT Phantom Holder Base Assembly (Fig. 7). Then, place the Phantom Holder Top on the kVue CT Phantom 
Holder Base Assembly with the holes still aligned (Fig. 7).

Fig. 7 

2.	Use four 3/8 – 16 x 1.375" flat head screws to attach the Phantom Holder Top onto the kVue CT Phantom Holder 
Base Assembly from the bottom (Fig. 8 & 9).

Fig. 8 

Fig. 9 

11INSTALLATION MANUAL – 2007149_kVue CT Phantom Mount & kVue CT Phantom Mount Generation 2_EN
Qfix | 440 Church Road | Avondale, Pennsylvania 19311 USA |  +1 484-720-6053 |  +1 610-268-0588 | www.Qfix.com



440 Church Road 
Avondale, PA 19311 USA 
www.Qfix.com

	 	 +1 484.720.6053 / 800.526.5247 

	 +1 610.268.0588 / 800.831.8174 

	 	 sales@Qfix.com
2007149_EN_E

2022-05


	General Precautions
	WARNING STATEMENTS
	WARNING LABELS & DESCRIPTIONS
	kVue CT Phantom Mount

	PARTS PROVIDED
	INSTALLATION INSTRUCTIONS FOR PHILLIPS MACHINES
	INSTALLATION INSTRUCTIONS FOR SIEMENS MACHINES
	kVue CT Phantom Mount Generation 2

	PARTS PROVIDED
	INSTALLATION INSTRUCTIONS FOR PHILIPS MACHINES


